The Nuclear Atom

The Plum Pudding Model: an early picture of the atom.  The Thomson model pictures the atom as a sphere with small electrons embedded in a positively charged mass.
Rutherford carried out the following “gold foil” experiment:
· An -particles source was placed at entry of a circular detector.

· The -particles were shot through a piece of gold foil.
· Both the gold nucleus and the -particle are positively charged, so they repel each other.  

· Most of the -particles went straight through the foil without deflection.
If the Thomson model of the atom was correct, then Rutherford’s result was impossible.  Rutherford modified Thomson’s model as follows:
· Assume the atom is spherical, but the positive charge must be located at the center with a diffuse negative charge surrounding it.

· In order for the majority of -particles that pass through a piece of foil to be undeflected, the majority of the atom must consist of a low mass, diffuse negative charge - the electron.

· To account for the small number of large deflections of the -particles, the center or nucleus of the atom must consist of a dense positive charge.
